Total Marks:12

Class:10th

Time:15min

Subject:Chemistry(Objective)

Choose the best answer.Cutting overwriting and use of inkremover is not allowed

1 The expression for the equilbrium constant for

the reaction N,+3H,———2NH,
DINH, /NI 0N/ [NH,]
OINH,J/[NJH,]  O[NH,J/[N,J[H,]

For which reaction k;, is the rate constant:

a) Forward reaction b) Backward reaction
¢) Upward reaction d) Downward reaction

The pOH 0f0.001 M of Ca(OH), solution is:
a)2 b)2.5
)12 d1.5

Which is the Lavoisier acid?
a) HCI b) H,SO,
c)CO, d) NH,

General formula of alkane is:

N,+3H,——=2NH, 1

-c‘-ﬁ/{gwgﬁfﬂd;géﬁu:{ld/

DINHF/INJHT  BINJIH,T/[NHT
OINHI/NJH]  OINH/[NJH,]
_LLWKQ/K(;{I d/‘_f/Kf 2
a) U:{’ Sl b) Uﬂg' dA’u.,“C.
c) u;“(l dﬁu:«l d) u:’“(l Shnus®
SrpOHL o #  Ca(OH),0.01M 3
a)2 b)2.5
c)12 d1.5
?LL e l}:’. U}( 4
aHCI b) H,SO,
e)CO, d)NH,
_‘LJ}”/GJ)?K)'{.?I(AIkaneS) °
a)CH, ., b)C H,,
c)CH, , dCH, |

6 Which hydrocarbon has no€fieCb6n an aqueous ¢S # 3 , J}lﬂ_jj:gﬂéiuiu,ui/(u}’uﬁ)’/ 6

a)CnH2n+2 b)CnHzn
C)CnHZn-Z d)CnHllrl
solution of bromine:
a)CH4 b)cl(\HZH
c)CH, dCH,

7 Chemical forfiul of Fructose is :
a)CIZHZZOl 1 b)C(\HIZO(‘
C)C4H10 d)CSHIZ

Which is pentahydroxy aldehydes of the following

a)CH, b)C, H,,

c)C,H, d)CH,
_‘LU)*‘/GJ%‘{@;(/. !

a)C,,H,,0,, b)CH,,0,

c)CH, dCH,,

e U s e, ©

a) Starch b)Glucose a) Gl b)sf £
c¢)Fructose d) Sucrose )i} D s,

9 Our planet earth consists of . ..... natural spheres: - %L};”y 4 /’.:V ) B 2
a)l b)4 a)l b4
)6 d)8 )6 d)8

10 Vibrious cholera bacteria casuses the diesase: ?Lgmﬁdjbéul{u’zﬂ&;& 10
a) Cholera b)Diarrhea DI ‘ b)&/’ f3
¢) Jaundice d) Hepatitis b, D L

! Temporary hardness is because of: ?%G”G?’JJ{(}LW%A} "
2)Ca(HCO), b) CaCO, a)Ca(HCO,), b) CaCO,
¢) MgCO, d) MgSO, ¢) MgCO, d) MgSO,

"2 Matte is mixture of - f:[ s
a)Cu,S and FeS b)FeS and CuS a)Cu,S and FeS b)FeS and CuS
¢)FeO and Cu,0 d)CH,0 and FeO ¢)FeO and Cu,0 d)CH,O and FeO

© 2022 A product of "ParagonSoft" Gujranwala,Pakistan



